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And if you wish I will say; this Xn>72 and this Xn>>72 are when his
N2 IS as NPT N

OVERVIEW

The third reconciliation of the NMn>72 is that one XN*>12 maintains that Paw 17 19w3,
while the other maintains that 2w 37 27w Swa. However both nin»™a are
discussing a case where ¥ N1 is Xn5y7 n11120." There is another &07°3,> which
maintains both MN™72 are in a case where > N°1P2 is XA9Y7 N°Ys.° Our NMdOIN
negates this X077
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And the text does not read that his n°111°2 is as Xa»¥7 N>y, for since this answer
is following the previous answer where we established that he had no n>7y, etc.
= NADYT 75957 DTV 1P 1123 5H92913%2 19D 99D INNIN
Why is it called n>av3°2 since it is his nv7° and also X»®¥T N7V (if we would be o3
that Xn2¥7 N°7°Y2 190 N°111°2 7N°AW STOR) STR).

Moo offers an additional rebuttal to the X071 of 'Rn?yT N 7oYI":
= 1313532 290 DY) PP NPT NIND RNPINN 351 19 ORT Ty

And furthermore, if this is indeed so (that 2w n°111°2 is X297 n°7°v2), then how

can we establish that Xn>72 which states that 17''¥23 52912 collect n°1112 -
1190V 10 ‘%Y SYWAa MINT INNDY 122 *PRY 1P 15V ININT INDY 13

Whether according to the one who maintains 2w 37 Y»w2 or whether

! Therefore if we maintain 12w 377 1222 the M collects N2 (for the N1 is the M7 N*7Y), and if we maintain
RY 17 07 w3, the 71 receives NP1 (since the MYT N2 is RAYYT Noad).

? See XY "7 "wA.

3 According to this X073 if we maintain Paw 17 72w3, the Mo collects from the N2 (and we have to assume that at
some point the 7% had 773m1 1>7°Y), and if 1w 7 09w w3, the M7 collects from N> 1271 (for the M%7 PN is NP7
RnoY7).

* Presumably then (if the current answer does not retract from the previous answer) we assume that the current
answer concurs with the previous one; namely that 77521 n°7°¥ 12 in°n7 X%. We cannot say that (in both n1n»12) he still
has N>y (which was one interpretation of 775 N>y 17 an°n &), for if so according to the Paw 17 19wa 7"», why
does not the pr1 collect from n>7°y. There must be therefore (at least) one case (where 1w 177 1722) in which he does
not have n>7°y. Then Mo forthcoming question comes into play.

> If we maintain 7w 37 Y2wa then certainly the (P>72) M2 has no N7y, for otherwise the 11 should collect n>1°Y (not
nnra). Why then should the Mm% collect 12 which is m?7 n>*7y (for he has no ‘real’ n>7°¥). We cannot answer
that the m> had 71om n°7°y, for as Moo stated previously the assumption is that 77311 N>7°Y 12 7077 ROW.

% If we maintain 12w 37 09w w3, then regardless if the i has ny or not, the question remains why the Mo
receives N1 (since X927 N°7°YD MY7 2 and we maintain 1nw 37 09w Hw1).
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according to the one who maintains 72w 377 291 w2 (according to either view since
the 12 is N7y, why should the M1 receive the n°11°2)?!

SUMMARY

In a series of answers, we assume that the subsequent answer agrees with the
previous answer unless otherwise specified. The third answer therefore agrees that
we are discussing a case of 717221 n°7°v 1% 101 &Y. We cannot therefore be 03 that
X127 nO7Ys 77 N, for a) why is it called n°11a, and b) why does the mon»
(and the p1°1) collect from n 112,

THINKING IT OVER
1. Why indeed did not the X713 answer that both nIn*72 are in a case where he sold
the N>y and 9w NN is XAYYT 127w (as "1 explains in the X")?’

2. mpoin second proof is that if 2w N1 is RAYT 17w, then how are we to
understand the Xn>92 which states n°112°22 1"y PP 13; and NMdOIN adds that this
question is whether we maintain W 3717222 or 1nw 17 02 Hwa. It would seem that
according to this X07°3, the ¥n>72 in which the 1"v2a collects from n 11°23, certainly
maintains 12w 37 7222 (for he had n>7v which he sold) but it cannot maintain w2
TRY 17 02w, since the N°11°2 are XnHy7 N°7°vd. Why then does moown mention P2’
"W 17 W Hwa 7"nh?!

7 See R"wmn.
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